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377(SI) 2

Note: 1) Allquestions are co'mpulsory.

1) Illustrate your answers with
labelled diagrams wherever

necessary.

il Marks allotted to each question
are mentioned against it.
N e foree T IvR QR e -
@) fgHeee &1 aned §
i) S RGIRT T AVSHINTH § A
ii) U;ﬁh T T SVSHINH d T
i) wm FT TS FHIYEH § T
St o1 Ffors v @ SaE
iv) FE YA 1

171458

Scanne d with CamScanner
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@) AR amERw § cO,, Hi WM FMAK

171458
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4

R WWWW%
lj) e e
i) TR o o

iv)

YR G | 1

1. Choose the correct option and write In

your answer-book :

A

171458

Double fertilization means

i

1i)

i)

iv)

the fusion of two male gametes

with egg.

F

one male gamete with the egg
and the other with secondary

nucleus.

one male gamete with the egg

and other with synergid.

all of these. ]

e
b

[
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B)

C)

171458

5 377(8I)
If concentration of CO, increases

continuously in the environment,

what will be its effect ?

i) Ozone depletion .

ii) Greenhouse effect

iii) Increase in photorespiration

iv) Suffocation. 1

If other one or more genes are
introduced in any plant, the plant

will be called
i) Transgressive
iij Tran sgenic

iii) Triploid

iv) Trisomic. 1

[ Turn over
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377(8)) 6

D) Guttation is usually found in
i) Aquatic plants
i) Mesophytic piants
iiij Xerophytic plants

iv) Herbaceous plants. 1

/ﬂ?ﬁtﬁaﬂ@n?ﬂﬂﬁ%?

1

2. Whatis synandrous condition ? 1
W e fifSrg ammiew ¥ U qEF AWK
fotrEq | 1

3. Write one chief difference between act.iire

absorption and passive absorption. 1

171458

\
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7 377(S1)

e < 7 e <ol 3 o
My 1

4. Photosynthesis process 1s found in

which part of chlorophyll ? 1

sﬁ.ﬁﬁﬁﬁwﬁ%m@ﬁﬁﬁqﬁ

, L ,
FEREAE ?

5 'In which plants do the stomata remain

open during night and closed during the

6. Single cell protein is obtained from
. | - !
which group of algae ?

58 [ Turn over
1714
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377(S1) 8

7. Differentiate between cyclic and non-

cyclic photophosphorylation. 2

I § YU UM T I R R

1+ Y%+ 1

8. What is respiratory quotient ? What will
be the value of RQ in organic acids and
fat ? 14+ W%+ “/g

171458
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9 377(SI)

T % Wi @A o el @ A g

2

9. What is. the contribution of plants in
balancing the environment ? 2

2

10. Draw labelled diagram only of the

transverse section of a mature anther. 2

11.
ﬂmmﬁﬁﬁﬁml 2

11. Draw labelled diagrams only of different

stages of development of dicot embryo. 2

[ Turn over
171458
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377(8I) 10
m ) T 141
i) SRt S S o
i) 37 T |
12. Explain the following : 1+1

i)  Biochemical oxygen demand

ii) Acid rain.
13. U Tehida WY o T TUeR S @ e oty
&I aUF HIT | 2

13. Describe the method of transplantation
of disease resistant gene in a disease

infected plant. 2

171458
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11 377(SI)

SR @ dodte W & A R |

fatEu | B+t

fg

14. Name any two BT crops and also write
the name of chief bactena part.iﬂipating

1
in their formation. Yot+r Yo+l

55 aal § N AR

1+1+1+1+1

[Tiuflﬂver

171458
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377(S) 14

16. Name any four growth hormones. Draw
the chemical structure of auxin and
gibberellins and describe the effects of

both the hormones on plants. 14+2+2

OR

171458
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Write short notes on the

i)

ifi)

iv)

15

following :
1+1+1+1+1
Leghaemoglobin

Munch hypothesis

Absorption of light through

chlorophyll molecules
Photolysis of water

Coenzymes of electron transport

system.




